
AUFBAUANLEITUNG - ASSEMBLY INSTRUCTION

A285



Maßstab 1:1, scale of one to one

In
bu

ss
ch

lü
ss

el
 5

 m
m

A
lle

n 
ke

y 
5

 m
m

! Hinweis / Note:

Für den Aufbau werden zwei Monteure 
benötigt. Somit vermeiden
Sie Beschädigungen im Vorfeld.

Two persons are needed for the
assembly. This prevents damage
in advance.

Fl
an

sc
hk

op
fs

ch
ra

ub
e 

8
x5

0
 m

m
fü

r 
H

ol
zk

uf
e

Fl
an

ge
 h

ea
d 

sc
re

w
 8

x5
0

 m
m

fo
r 

w
oo

de
n 

ru
nn

er
 

Fl
an

sc
hk

op
fs

ch
ra

ub
e 

8
x3

0
 m

m
fü

r 
M

et
al

lk
uf

e

Fl
an

ge
 h

ea
d 

sc
re

w
 8

x3
0

 m
m

fo
r 

m
et

al
 r

un
ne

r 

 



1 Vorbereiten / Preparation

Unterlage / Verpackungsfolie
underlay / packaging foil

Beliebige Auflage
mit Unterlage
Any support
with underlay

Unterlage/
Verpackungs-
folie
underlay/
packaging foil

Beliebige Auflage
mit Unterlage
Any support
with underlay

Unterlage/
Verpackungs-
folie
underlay/
packaging foil

Beliebige Auflage
mit Unterlage
Any support
with underlay

Unterlage/
Verpackungs-
folie
underlay/
packaging foil

 !

Beliebige Auflage
mit Unterlage/
Verpackungsfolie
Any support
with underlay/
packaging foil

2



4

0
2

/2
0

2
5

 S
O

FTY	
K

oinor P
olsterm

öbel G
m

bH
 &

 C
o.K

G
, Landw

ehrstraße 1
4

, 9
6

2
4

7
 M

ichelau, info@
koinor.de

Flanschkopfschraube 8x50 mm
für Holzkufe
Flange head screw 8x50 mm
for wooden runner 

Flanschkopfschraube 8x30 mm
für Metallkufe
Flange head screw 8x30 mm
for metal runner 

3 Montage Kufen / Runner assembly

Bank / Bench Hocker / Stool

Vorne
Front

Hockerkufe ist 
symmetrisch

Stool runner is 
symmetricalVorne

Front

 


